SoLvtiows To Lectwe 30 PRosemg 1d7-(33

P/&? /Do??c?# ) F}a—(ﬁl\iﬂ\_/ j/luw x = ~/g/ s SN (r &/%,ud/‘a./(' over
S et
= [m-i = «=73 -i

= «*+i = I3

= (o(1+{)? = 2

= «2+ 350(2+3§Zo< +17 =
e 320(2"'2:2"‘0(?—-}-30(

= 2'(Bo(z'—~l)': A+ Sof — &

= 5 (3x-)" = (At 3 - <) (3 +7~ )

S (At el) = Yt b — TG ol -3
I WL AR

¢

/D\hs/ z . \
Caxte Cof-1 = YR+ qxt-Ha - b T

w6 3t 3L+ FS = O b

Henee P = X6+ 3%+ 3x "+ 12x 45 heo PLO =
Q .

H(\u».f £ = (J2 -1 Iy ml%ﬂ,bra(z over



[Pras] #2p. 3422 Fraligh| Fid e (4, ®) and gy (%, @)
e x= V5 +V7F

" = 3+ 7 ::>(o(z~ QL):(\FI)

— €73
= = 27
9

- ¢ Z.
= xl“?dz‘__éz =

(onsidin  F(x) = 9XT-6x°-€Q
Note, modudo ¢ Gl = X'- ax*~ 2

hena m =-1, 40) = l-2-2= = %)= %(3)
U(2) = l6-2al¥)-a=8-2=-2 Jhw

& nd

>k{$ (edmeible  oweria Loy {)ﬂ

Ponw, voef J£ @) = %' =X - %%
and  dey (\/?H?/ @) =Y.
(‘_‘]#/‘;z 0. A /fm&ﬂj

Con s iden X = ﬁ over F '://2 (/de/;Z2 X over //?
olg,ubm& or Aranscendo=ta . TL wtaokrw’c foed ooy (+, ().

TR

= Y(x) reduchls ove A .

s

N ote ﬁl’_ e [ ond Px) = X—=JT s ‘”([C‘l‘*cg\& over /E
o PUT) = T -JT =0 hence  deg (N7, @) =
and \/._T? [_( A/Z)(e/bfazc ovar @

oops! T Negp To sHow THIE QUARTIC CANT FACTUR
TN ’ZLbt (x} $€E  oveR ’7



PIAS conhnued
Necd o prove % = x‘/~ 2)<2—.;1 does e
Aanve Q ?/W«.d[rwﬁ'c ﬁcﬁf (n Zv [/\’] We

Showe d Y(x) #F 0 Vx e ey henc Gl Aas

No  Jinea— nihr /g //‘4 ﬁ#v/ 7)’1’3 /\/07% e

500 | A D00 Fo VxeZ,
g)t\./(f /6 C/la/gw,

X'+ otX+ g = k)
XZ ::?((X)
@ XX+ A0

@ X'+z 720
%% +3 = x-l = x+)(x-)

Xt + X = X (X+)

¥* + X+ F O
Wk X+ =(x-1)(X=2)

@ X" +X+3 #Fo
X H1X = X(x+2)
X x4 | :(X*")z
xPHix 42 = &-)(x+2)
G X" +ix+3 #O
X 3% = X(X+3)

© X FIx+ #£O
X 4 7x 41 =(Xt1)(X+2)

@ X'+3x+3 F0
@v y\/\7 C(/»((u\lo&h‘oni/ E{? i((eduuﬂéu %\admjﬂu ‘n ZL{[)CJ.




PIAF  Conpausd
%(X/:X({»ZXZ’Z’;X +IX + 2
Z
X
1
X +| Z #12x°
d) X2 JxMioxty oz
@ XS4 JxT i+l Q Y oxt
" . X ' +IX
X'+ X - z
x2+2 o
Xt
o
”’—"_'//’X-:Tﬂ @ x+)<+3j;<<7:)2<x+z
O XX+ >< *ZX*?- X7 +x7h 3y
)( + X ‘”( > 2,
NERVE -X=X%2
—x? sz«i O
A X +X+2 s
LXKt
——X
- ~3X+2
Q f& 2x +3 Q XH3x4 [x +2X "+ 2
)<+27<+3 +Z>< +Z Xt3x7e X
~2><:~x"+z - 3x°-9xt-2x
(A
~ P oyxt —6x 2X 43 52
I XL 2x t+(x +1
3xEx+4 —3x
1
e e -
o 4
X +?x+3/x"+2x+2 A, b0y =x AT L
q . . - ~
X1+ 3x73x" Y lC(L(LkA.C\\D\g N Z (x)
—-3><3—>< +2 ;
—3x = Gx af i f\u N 9(%&.0&73(/(
T +X “(i\u&n)(f ’H\{ Ly e

Cw\guJ w"hohs_



??7/30 *(6 of p-272 F/a«&/%/
[ Convidn X = 7%, fiad dey (7] @ (7))

. 3
Netw & = 7= 7707 = rinigrt € @ (73

We gL Plx) = X‘?—~ T < @(ﬂf)[x] & vidl
P(T*) = (77‘/'?'775 = 0. I+ rememe A
show — Px) is iweducide over QI77). Onc
Fhat is shown,  dag (7% @(7) = dos, (P15)) =[3)
Sippore  Plx) = (x+o) (X + gx+J)

= o mf = e x(xeg)+x (dFxp)+ «d

— b
= X4 @ =0 5+o<g::o) =TT = o4
(5‘-;—»( = aa((ﬁ’:;c,(?- wﬂ“€: {?

-

/\qu A = "TTl S_é @[TI‘3) IS 19()() wred ove @/{TT?)’



Py

TRVE [FALcE

TRUE an.| The awmber T ¢ franscendpArd over @)

TRUE C i simple extenssom of R

TRUE C. | every element of F e algebrac over f [« Feld)
[ ic an extension Field of @

FALSE €.l @ s on exten Field f £,

(e

2

TRVE

= : fa oves A o & : I‘F 'G(QL) =0 —F“/
ARVE o xed sl Ay 1 £ix) #0 € Q[x]
v [ A %N ?
FALSE % O(E‘( L\ls over @QA}L&Q@ . I»-f: .F(n{):.o .28 ‘F(x/fz\// XJCLQ-’FEL(AﬁO _#Vjet‘
TRVE ‘f‘\ ever\a norny (-Mfﬁ‘*# /00(‘3- ‘h F[K] /”V Zer in e Mﬁ (f‘«))?_n
04,\{ Nl

‘ - ot of
FALSE L. every non coarfudt poly- #1 Fl) has w 2e0 i every extnsion of £

TRVE é If x isr an MM@/MM&N\‘E/ @(Tﬂg @(XJ

(b) C = R(i)
c) ¥ ceF Ahen Pix)=x-C eF[x) and PCc)=o0.

d) @ =R [ Seme tield ops.)
(Q.) Zz % @ ( d(ﬁeru\* Ckfi(l(-’\'t'or\( VV\WIHP][C“Q"?:»\ C'!LE)

£) 4 f) =0 fr deg(f)<n Ao fhip ><
)ﬂf\ﬂ UUV& de ™ oF Mg(‘x/ @)ZH,

(3) deg V2, @) =2 b fix) = x-J2 € 2[x)
and £ (HZ) = 0 gk clay (f) =1 < 2.

(h)  Meorsduat Th= Z

(’L) IE e \’\L{E gun kam(.on (,UAJ'PU(J’\ ‘F(K}:X ’{’I_



/‘D/ga’z | #25 pg. 273 of ////A/f/?i_/

(f(.) Show X3 + )(Z + [ i weed, over Zz, ;
2 —0
P\ ot-e Fix)  har F£G&) =y and £0) =17/7/ =)
Afhus  Fx) s (e —over Zz ,

(é} Lot v extend &, b Z, (%) o hsn q/?+0(2+/20

Foitor Xtxie) i (Ze())[x]

x %+ (1+)X = (&)
X—=o [ ex® 4

F
¥ =A%

——

(o) x5+
(et ) X" = & (14 %)

( —‘(o<‘+;<)x
KX = ="
3 z
l+ &’ +o" = O

Thus

/

X i xie] = Q<—o<)(><2+ (14 )X — o~ o()

T4 rommind v doterem i O Ak %A(xdrw’h; pie s
&\Ib 59\'&5-'. l/\M/ 0\.“4/ Jon~ Co-lc,w(l/h‘;m/ I 7C0vw\o0

ex —_(x—x)(X—o(z}bm—H—xﬁ—o(Z}i}
N e
HNair conld Lool %Mtk'(
c&fﬁ&/e% 0 K 24| *:~<><; etc.




